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PREVIEW QUESTION BANK
Module Name : cec24-hs27 Environmental Issues In India-ENG
Exam Date : 18-May-2024 Batch : 15:00-18:00
Sr. | Client Question . . Negative
Q Question Body and Alternatives Marks Mga ks

No. ID

Objective Question
1 10822001 2.0 0.00
The bicgas plants release following gas-
A. Ethane
B. Carbon dioxide
C. Methane
D. Nitrogen

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B)and (C) only.
3. (A), (B), (C)and (D).

4 (B), (C) and (D) only.

Al:1

A2:2

A3:3

Ad 4

Objective Question

2 10822002 2.0 0.00
Environmental crime refers to the violation of laws intended to protect the

1. Environment and Human health
2. Wildlife and Environment

3. Human health and animals

4. Environment and society

Al:1

A2:2

A3:3

Ad 4

Objective Question
3 10822003 2.0 0.00
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Which form of Mercury in the environment can cause health problems?

1. Aquatic mercury
2. Mercury vapor
3. Methyl mercury
4 Mercury salt
Al:1

A2:2

A3:3

A4 :4

Objective Question

4

10822004

Which of the following factors decrease desertification?
A. Protect the top soil

B. Rotate crops

C. Plant trees

D. Increase farming for more crops

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C)and (D).

4_(B), (C) and (D) only.

Al:1

A2:2

A3:3

A4 :4

Objective Question

5
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10822005

The variability of life forms within a given ecosystem is

1. Biodiversity
2. Biosystem
3. Bioviability
4. Ecosystem

Al:1

A2:2
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A3:3

A4:4

Objective Question
6 10822006 2.0 0.00

Strontium of radicactive-fallout is:

1. 5r-80
2.5r85
3.5r95
4.5r-90

Al:1

A2:2

A3:3

A4 :4

Objective Question
7 10822007 2.0 0.00
Non-ionizing radiations with specific biological effects are:

1. X-rays

2. UV-rays

3. B-rays

4 Gamma rays

Al:1

A2:2

A3:3

Ad:4

Objective Question

8 10822008 2.0 10.00
The most Potent Greenhouse Gas in terms of efficiency is

1. N0
2. C,0
3 CFC
4. CH,

Al:1

A2:2
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A3:3
Ad:4

Objective Question

9 10822009
Which is a sink for carbon?
(A). Saline water bodies
(B) QOld oil fields
{C) Wetlands
(D) Forests

Choose the correct answer from the options given below:

1.(A), (B) and (D) only.
2.(A), (B) and (C) only.
3. (A), (B), (C) and (D).
4.(B), (C) and (D) only.

Al:1
A2:2
A3:3
A4:4

Objective Question
10 10822010
CFCs have a continuing effect on the ozone layer as
(A). they are efficiently absorbed by atmospheric water vapours
(B) they are being produced in increasing amounts all over the world
{C) Cl atoms formed by them are used up in reactions causing degradation of the ozone
(D) Cl atoms formed by them only act as catalysts in reactions causing degradation of the ozone

Choose the correct answer from the options given below:
1. (A) and (D) only.

2. (B)and (D) only.

3. (A), (B), (C) and (D).

4 (D) only.

Al:1

A2:2

A3:3

Ad: 4
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Objective Question

11 /10822011

is one of the most prevalent hotspots of biodiversity in India.

1. Eastern Himalayas
2. Western Ghats

3. Indo gangetic plains
4 Sundarbans lands
Al:1

A2:2

A3:3

Ad 4

Objective Question

12 /10822012

is the forest cover to be maintained as per the National Forest Policy (1988)

1. 67% for hills & 33% for plains

2. 37% for hills & 11% for plains

3. 17% for hills & 23% for plains

433 % for hills & 23% for plains
Al:1

A2:2

A3:3

Ad 4

Objective Question

13 /10822013
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Which of the following statements is true about SMOG?
(A). SMOG is derived from the fog

(B) SMOG is derived from smoke

(C) SMOG is derived from water vapour

(D) SMOG is derived from both fog and smoke

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A)only.
3 (A), (B), (C)and (D).

4 (D) only.

Al:1

A2:2
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A3:3

Ad 4

Objective Question
14 10822014 2.0 0.00
DDT and Aluminum cans are examples of

1. Primary Pollutants

2. Secondary pollutants

3. Biodegradable Pollutants

4. Non-Biodegradable Pollutants

Al:1

A2:2

A3:3

Ad 4

Objective Question
15 10822015 2.0 0.00
Why is it difficult to recycle plastics?

1. ltis very hard

2_lt comes in different sizes

3. ltis adhesive

4 _ |t contains different types of polymer resins

Al:1

A2:2

A3:3

A4:4

Objective Question
16 110822016 2.0 0.00
The Crganic Material Decompose in the Buried Solid Waste by

1. the action of microorganisms
2_the action of oxidation

3. the soil particles

4 the flow of water

Al:1

A2:2

A3:3
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A4 :4

Objective Question

17 /10822017

What is the full form of UNUDHR?

1. United Nations Union on Declaration of Human Rights
2. United Nations Uniform Declaration on Human Rights
3. United Nations United Declaration on Human Rights

4 United Nations Universal Declaration on Human Rights
Al:1

A2:2

A3:3

Ad:4

Objective Question

18 10822018

The concept of sustainable development encourages-
(a) Form of growth that meets current basic needs

(b) Preservation of the resources for the need of future generation
(c) A change in all respects of life

{d) sustainable utilization of resources

1. (A), (B) and (D) only.

2. (A), (B) and (C) only.

3. (A), (B), (C)and (D).

4_(B), (C) and (D) only.

Al:1l

A2:2

A3:3

Ad 4

Objective Question

19 /10822019
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Who among the following was associated with Bishnoi movement?

1. Amrita Dewvi

2. Gaura Devi

3. Govind Singh Rawat
4. Shamsher Singh Bisht

Al:1
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A2:2

A3:3

A4 :4

Objective Question

20 10822020

Which of the following was started in 1973 to save the evergreen tropical forest in the Palakkad district of Kerala?

1. Chipko Movement

2 Silent Valley Movement
3. Appiko Movement

4 Jungle Bachao Andola

A2:2

A3:3

A4 :4

Objective Question

21 10822021

Who is the father of Green Revolution in the World?
1. Norman Borlaug

2. M.S Swaminathan

3. Raj Krishna

4 RKV Rao

Al:1

A2:2

Ad:4

Objective Question

22 10822022
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How many biogeographic zone does India have?

1.7
2.8
3.9
4.10

Al:1
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A2:2

A3:3

A4 :4

Objective Question

23 10822023

What is the correct abbreviation for [UCN?

1. International Union for Conservation of Nuts

2. International Union for Conservation of Nature

3. International Union for Conservation of Natural habitat
4 International Union for Conservation of Numbers
Al:1

A2:2

A3:3

A4 :4

Objective Question

24 10822024

Consider the following statements regarding the cultivation of Chalcolithic people:
A. They raised cattle as well as cultivated both Kharif and rabi crops in rotation

B. Wheat and barley were grown in the area of Inamgaon and Ahar

C. They also cultivated Jowar and Bajra and so also Kulth, Ragi, Green peas, Lentil and Green and Black grams.

Choose the correct answer from the options given below:
1. (A) and (B) only.

2 (A), (B) and (C) only.

3. (A)and (C) only.

4 (B)and (C) only.

Al:1

A2:2

A3:3

A4 :4

Objective Question

25 10822025
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Which of the following were important sites of Mesolithic culture?
A_Kotdiji in Rajasthan
B. Langhnaj in Gujarat
C. Sarai Nahar Rai, Chopani Mando, Mahdaha and Damdama in Uttar Pradesh
D. Bhimbetka and Adamgarh in Madhya Pradesh.
Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2 {A), (B) and (C) only.
3.(A), (B), (C) and (D).
4 (B), (C) and (D) only.

Al:1
A2:2
A3:3
Ad:4

Objective Question
26 10822026
The pottery forms used during the Cha1lcolithic cultures were:
A dishes-on-stand
B. spouted vases
C. stemmed cups
D. pedestalled bowls

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2 {A), (B) and (D) only.
3.(A), (B), (C) and (D).

4 (B), (C) and (D) only.

Al:1
A2:2
A3:3
Ad:4

Objective Question
27 110822027
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The Invention of wheel is reported in -

1.3100B.C.
2.3200B.C.
3.3300B.C.
4.3400B.C.

Al:1

A2:2

A3:3

A4 :4

Objective Question

28 10822028
Which is the right sequence considering the period of cultivation From starting

1. Sarson = rice > barley.
2. Barley = sarson = rice.
3. Barley = rice = sarson.
4. Rice = barley > sarson.

A2:2

A3:3

Ad: 4

Objective Question
29 10822029

Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) - The middle Palaeolithic culture slowly evolved into the Upper Palaeolithic culture.
Reason (R) : Upper Palaeolithic age can be dated between 1, 50,000 B.C. and 40,000 B.C.
In light of the above statements, choose the correct answer from the options given below.
1. Both (A) and (R) are true and (R) is the correct explanation of (A).
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.
4 (A) is false but (R) is true.
Al:1

A2:2

A3:3
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Ad 4

Objective Question
30 /10822030 2.0 0.00

There are varieties of agroecology according to Buttel.

1.2
25
3.3
4.4

Al:1
A2:2
A3:3
A4:4

Objective Question
31 10822031 2.0 0.00
Which of the following civilizations is net associated with Harappan Civilizations.

1. Mesopotamian
2. Egyptian

3. Sumerian

4 Chinese

Al:1
A2:2
A3:3
A4:4

Objective Question
32 10822032 2.0 0.00

Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) : Most of the Chalcolithic cultures flourished in semiarid regions

Reason (R) : The Jorwe settlements were comparatively larger in number than other Chalcolithic settlements
In light of the above statements, choose the correct answer from the options given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4 (A) is false but (R) is true.

Al:1

file:///C:/Users/Administrator/Desktop/18 BATCH 2/zip/723 S2 cec24 hs27 Live/723 S2 cec24 hs27 Live 1-50.html 12/19



5/21/24, 12:47 AM 723 _S2_cec24_hs27_Live_1-50.html
A2:2

A3:3

A4 :4

Objective Question
33 /10822033

When was the Indian Forest Service set up by Brandish?

1. 1864
2. 1866
3. 1869
4 1870

Al:1

A2:2

A3:3

A4 :4

Objective Question
34 10822034

Who among the following led the forest revolt in Bastar?

1. Gunda Dhur
2 Kanu

3. Siddhu

4 Birsa Munda

Al:1

A2:2

A3:3

Ad 4

Objective Question

35 10822035
The management of animals for milk and its products is called as

1. Animal breeding
2. Dairying

3. Domestication

4. Animal husbandry

Al:1

A2:2
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A3:3

Ad 4

Objective Question

36 10822036

Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) - Abiotic resources are obtained from the biosphere and have life, such as human beings, flora and fauna.

Reason (R) : Biotic resources are all those things which are composed of non-living things like rocks and metals.
In light of the above statements, choose the correct answer from the options given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2 Both (A) and (R) are false but (R) is NOT the correct explanation of (A).
3. (A} is true but (R) is false.

4 (A} is false but (R) is true.

Al:1

A2:2

A3:3

A4 :4

Objective Question

37 110822037

Which of the following statements are true?

1. People from Indus Valley worshipped Peepal Tree

2. People from Indus Valley worshipped Nature

3. People from Indus Valley considered Shakti as the Mother Goddess
4. They worshipped fire.

Choose the correct answer from the options given below:
1. (A), (B) and (C) only.

2 {A), (B) and (D) only.

3.(A), (B), (C) and (D).

4 (B), (C) and (D) only.

Al:1

A2:2

A3:3

A4 :4

Objective Question

38 110822038
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Which of the following sites had a figure of a chariot tied to a pair of bullocks

1. Ganweriwala

2 Hisar

3. Kuntasi

4. Dholavira

Al:1

A2:2

A4 :4

Objective Question

39 110822039

Which of the following statement/s is/are true?

1. Stone Cubes have been excavated
2. They had weights of 5,50,500 units

3. The Indus Valley system of measurement was the same as the measurement system adopted in Egypt and Mesopotamia.

4. The smallest division of marking on an ivory scale was 100 mm.
Choose the correct answer from the options given below:

1. (A) and (B) only.

2. (A), (B)and (D) only.

3. (A), (B), (C)and (D).

4 (B)and (D) only.

Al:1l

A2:2

A3:3

A4 :4

Objective Question

40 10822040
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The energy flow in an ecosystem Is

1. Always unidirectional

2. Always bidirectional

3. In any direction

4. Always down directional

Al:1

A2:2
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A3:3

A4 :4

Objective Question
41 10822041 2.0 0.00
is an organism used to gauge the quality of an ecosystem.

1. Decomposers
2. Predator

3. Bio-remediator
4 Bioindicator

Al:1
A2:2
A3:3
Ad:4

Objective Question

42 10822042 2.0 0.00
The process of converting solid organic wastes are converted to the residue and gaseous products through combustion is

known as

1. Incamation
2. Incineration
3. Incarceration
4. Incubation

Al:1
A2:2
A3:3
A4:4

Objective Question
43 10822043 2.0 0.00

Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).
Assertion (A) : Tides are a conventional source of energy
Reason (R):  Sunis a conventional source of energy

In light of the above statements, choose the correct answer from the options given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4 (A)is false but (R) is true.

Al:1
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A2:2

A3:3

A4 :4

Objective Question
44 10822044

Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) . Ozone depletion is one of the main reasons for Skin Diseases
Reason (R):  Deforestation is one of the main reasons for soil erosion
In light of the above statements, choose the most appropriate answer from the options given below

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4_{A) is not correct but (R) is correct.

Al:1
A2:2
A3:3
Ad 4

Objective Question

45 10822045
The practice of enclosing common grazing lands for private use is known as:

1. Subsistence farming

2. Deforestation

3. Enclosure

4 Sustainable agriculture

Al:1
A2:2

A3:3

Objective Question

46 10822046
The process of settling down and adopting a sedentary lifestyle is known as:

1. Industrialization
2. Globalization

3. Urbanization
4_Civilization
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Al:1

A2:2

A3:3

Ad:4

Objective Question

47 110822047 2.0 0.00
On what evidence is South Russia/Central Asia regarded as the original home of the Aryans?

1. Racial

2. Archaeological
3. Philological

4. Anthropological

Al:1

A2:2

A3:3

A4 :4

Objective Question

48 10822048 2.0 0.00
In the excavations of Harappan sites, bones of camels have been found at

1. Mohenjodaro
2 Harappa

3. Lothal

4 Kalibangan

Al:1

A2:2

A3:3

Ad:4

Objective Question
49 110822049 2.0 10.00
Is the first state in India which has made rooftop rainwater harvesting structures compulsory for all houses across
the state.

1. Andhra Pradesh
2. Karnataka

3. Tamil Nadu

4. Maharashtra
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Al:1

A2:2
A3:3
A4:4

Objective Question

50 10822050 2.0 /0.00
In Phalodi and Barmer, almost all the houses traditionally had underground tanks or tankas for storing drinking water. Barmer

and Phalodi are located in

1. Gujarat

2. Himachal Pradesh
3. Uttarakhand

4 Rajasthan

Al:1

A2:2

A3:3

Ad:4
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